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" General Instructions :
(i)

(i)
(iii)

(iv)
a3 :
(i)
(ii)
(iit)
(iv)

This question paper contains three parts A, B and C.
Part A is compulsory for all candidates.

Candidates can attempt only one part of the remaining parts
B and C.

All parts of the questions should be attempted at one place.

I8 -9 AT 9w A vk B - & @ s T

YT % g 8@ & 7w srfard § 1

T F O 9T @ N T H q FF uH 9T & FT E
gt 397 & 4t 9Ff & 3W & & @ W fafEw |

PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms

and Companies)

ot &

(TEWERT WS, WISt WAl agr Wi & fen araiee)

1. What is the basis for preparing Receipt and Payment Account ? 1
Yiftd qEn P WA SR S AR @ 2

2. Give the average period in months for charging interest on drawings
for the same amount withdrawn at the beginning of each quarter. 1

& §HE g TS faud & oy § emefa @ St @ @ emefRa Ui W =
* Waed & T Swam § o 9 Gt sftva eEfy ® wdE H sawRw |

3. State the meaning of sacrificing ratio. 1

@ IUE w7 TRy |

4. How does the nature of business affect the value of goodwill of a firm ? 1

AT F TFA BH R TG F qeq B Y SRyl w8 2

5. Give the meaning of ‘Issue of Debentures as a collateral security’. 1

T quffes sfifa & &9 ¥ frifa wom @ o sewRy |
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From the following information of a club, show the amounts of Prize
awarded & Prize Fund in the Financial Statements of the club for the

year ended on 315t March 2009 and 31%* March 2010 :

Details ' %
Prize Fund as on 1.4.2009 20,000
Prize Fund donations received during the
year 2009 — 2010 40,000
Prizes awarded during the year 2009 — 2010 69,000

frfafad o1 ¥ UF @ % 31 A9 2009 797 31 A 2010 H WG B A
a9 & QR faerer g qu R N F A S fady faeol § ewise

faaror 4
1.4.2009—%—3@:11 fafy 20,000
a8 2009 — 2010 ¥ TR fAfy g9 s gan 40,000
¥ 2009 — 2010 # fT T [T 69,000

Goodluck Ltd. purchased machinery costing ¥ 10,00,000 from Fair Deals
Ltd. The company paid the price by issue of Equity shares of ¥ 10 each at
a premium of 25%.

Pass necessary journal entries for the above transactions in the books
of Goodluck Ltd. '

Teos fa. ¥ R G fa. ¥ % 10,00,000 Yo H HEAG w kA A ( wA
I qed W PTaE T 10 9 T IRt & Pt g fen R 25% & sfifem
R frifra fRar T

oo fd. @ qEe B Swiw Al % fAu svevas Astnen sfafEl i |

X Ltd. redeemed 1000, 6% Debentures of T 100 each by converting
them into Equity shares. of ¥ 100 each. The 6% Debentures were
redeemable at a premium of 5% for which the Equity shares were
issued at a premium of 25%. Pass the necessary journal entries for the
redemption of the above mentioned Debentures in the books of X Ltd.

wH f. ¥ T 100 ¥3F ¥ 1000, 6% FOGE H WET T 100 YIF & Gwar W
¥ qfafid =& A | 6% FOE & WEA 5% & HfHEH W & @1, fEs
faw war ofF @ FriEa 25% & Hfm W R T | Sww RO & Wed &
foe g fa. & Taw § avas Usmmar wafiE S |
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A and B entered into partnership on 15 April 2009 without any
partnership deed. They introduced capitals of ¥ 5,00,000 and T 3,00,000
respectively. On 31% October 2009, A advanced ¥ 2,00,000 by way of
loan to the firm without any agreement as to interest.

The Profit and Loss Account for the year ended 31.3.2010 showed a
profit of ¥ 4,30,000, but the partners could not agree upon the
amount of interest on loan to be charged and the basis of division of
profits. Pass a journal entry for the distribution of the profit between
the partners and prepare the Capital A/cs of both the partners and
Loan A/c of ‘A’.

142009 F & a0 @ 7 TH gEE@ B & fwv o fEd deed 9w
R | 3R wAw T 5,00,000 @ ¥ 3,00,000 H YSH ME | 31.10.2009
% 3 @ oA F el e F RO & w9 A T 2,00,000 M
feu |

31.3.2010 % wow gL o F fAu ® F @-@F WA I T 4,30,000 F AW
T, W UEER WU W @ A S ad o fauee & R o emim W
N T gC | EeR § I A faaee & faw uw Jsemen wfefy wd gy
A wRRl & o @ G F w R @ SR HEY |

A partnership firm earned net profits during the last three years as
follows : '

Years ' Net profit
4
2007 — 2008 1,90,000
2008 — 2009 2,20,000
2009 - 2010 2,50,000

The capital employed in the firm throughout the above mentioned
period has been ¥ 4,00,000. Having regard to the risk involved, 15%
is considered to be a fair return on the capital. The remuneration of
all the partners during this period is estimated to be X 1,00,000 per
annum,

Calculate the value of goodwill on the basis of (i) two year’s purchase
of super profits earned on average basis during the above mentioned
three years and (ii) by capitalisation method.

4
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@ Rl B 3 e 3 aif § e e o fSe R

7§ 8

£4
2007 - 2008 1,90,000
2008 — 2009 2,20,000
2009 - 2010 2,50,000

Faw T g9F § wH A fEfee §St T 4,00,000 FF 1 Sifew @ e #
TC ESt W 15% sfoamw & 3faq wrm S @ 1 39 omfy ¥ Wil wEenl @
TRefis T 1,00,000 fa ad e mar |
=g & A9 H AT HINT () 3T 3fefad diF ot § afSe few Mo siea
Afqemy & & aW & BT b FER W ad (ii) Teiewr fafy g |
11. Pass the necessary journal entries for the issue and redemption of
Debentures in the following cases : 4
(1) 15,000, 9% Debentures of ¥ 250 each issued at 5% premium,
repayable at 15% premium.
(i) 2,00,000, 12% Debentures of ¥ 10 each issued at 8% premium,
repayable at par.

mm%m@wammmmm
() 15,000, 9% FUA T 250 TG & fAiAA 5% WfrEw W gam, I 15%
e W wfT 7
i)  2,00,000, 12% %O T 1ouaammﬁqu—-rs%qﬁquq:§an St e
W 3T 4 |

12. From the following items of Receipt & Payment A/c of South India Club,
prepare an Income and Expenditure Account for the year ended

31.3.2010 : 6
4

Salaries paid 55,000
Lighting expenses ‘ 5,500
Stationery (including ¥ 400 for the previous year) 4,000
Subscriptions received (including ¥ 1,000 received i in '

advance and T 750 for the previous year) 44,000
Net proceeds of Refreshment Room 30,000
Miscellaneous Expenses | ~ 3,000
Interest paid on loan for three months 1,200
Rent and Rates (including ¥ 500 pre-paid) 4,500
Lockers Rent received 4,900
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Additional Information :

Subscriptions in arrears on 31.3.2010 were ¥ 4,700 and nine m'énths
interest on loan was also outstanding. '

WY ifed FoW % FrAffad Wtd T e @@ W we ¥ 31.3.2010 H wEIE
T T & fau o g9 =F @l d9R HNY

4
IqT A 55,000
YHI9 = 5,500
Ryl (X 400 fea af & forg wfisfem) 4,000
T W (% 1,000 3w @@ T 750 fsw 9 & fow wfwfaa) 44,000
eI B ¥ e T 30,000
fafaw = ~ 3,000
T W dF AR & W @ 1,200
frn @ & (% 500 W YEE dfed) 4,500
dfe R st 4,900

HfARE T
31.3.2010 & TG =< T 4,700 4T I WU W 9 AR H A ft 7 41 |

13. Pass the necessary journal entries for the following transactions on the
dissolution of the firm of James and Haider who were sharing profits
and losses in the ratio of 2 : 1. The various assets (other than cash)
and outside liabilities have been transferred to Realisation Account : 6

1) James agreed to pay off his bfother’s loan ¥ 10,000.
(ii) Debtors realised ¥ 12,000.

(iii) -Haider took over all investments at ¥ 12,000.
(iv) Sundry creditors ¥ 20,000 were paid at 5% discount.
(v)  Realisation expenses amounted to ¥ 2,000.

(vi) Loss on realisation was ¥ 10,200.

67/1 6
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fafory Tt (Jee & oiffs) a1 S el # agEl @ § AR w9 5
TYEN R 9T 8e S SH-g W 2 : 1 % U § died ¥, H GH & WA A
frafofiaa el & fau smaves Asamen sfafyal Sy : :

() o= Y g 9w WO T 10,000 A HA & weAfd & |

(i) TR ¥ T 12,000 < g |

(i) & 7 wh f@w T 12,000 7 @ fag |

(iv) fafaw oer ¥ T 20,000 H 5% & Fg R AW fHar @ |

(v) aget =@ T 2,000 ¥ |

(vi) aget | & T 10,200 4t |

4. On 1.1.2007 a Public Limited Company issued 15,000, 10% Debentures
of ¥ 100 each at par which were repayable at a Premium of 15% on
31.12.2011. On the date of maturity, the company decided to redeem
the above mentioned 10% Debentures as per the terms of issue, out of
profits. The Profit & Loss A/c shows a credit balance of ¥ 20,00,000 on
this date. The offer was accepted by all the Debenture-holders and all
the Debentures were redeemed. .

Pass the necessary journal entries in the books of the Company only
for the redemption of Debentures, if the Company follows Sec. 117 C of
the Companies Act. 6
1.1.2007 F UF UENlE fAfRe F90 3 15,000, 10% FOGE H St T 100 TA4F
¥ A @ frlw wwed © G, S wed 31.12.2011 P 15% HfmEd W EA
a1 | WA fafr @ oResEa W R 3 9% 10% O & i @ vt &
SR el § ¥ e 0w folg T 1S9 e FeE & aweef @| § S
I T 20,00,000 71 | ¥ H Gl FowE-gfd T wER W aa e woE
H WMeA e T

FOA H TR § Haed RO & WA F vavas Jswn e w3
T g FE SR @ aR 117 @ # ST fea S @

5. Dinesh Ltd. invited applications for issuing 10,000 Equity shares of
Z 10 each. The amount was payable as follows :

On Application T 1
On Allotment ¥ 2
On First Call ¥ 3
On Second and Final Call — Balance
The issue was fully subscribed. Ram to whom 100 shares were

allotted, failed to pay the allotment money and his shares were
forfeited immediately after allotment. Shyam to whom 150 shares

57/1 7 P.T.O.
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were allotted, failed to pay the first call. His shares were also
forfeited after the first call. Afterwards the second and final call was
made. Mohan to whom 50 shares were allotted failed to pay the
second and final call. His shares were also forfeited. All the forfeited
shares were re-issued at ¥ 9 per share fully paid up. Pass necessary

- journal entries in the books of Dinesh Ltd.

67/1

OR

Moti Ltd. invited applicatibns for -issuing 10,00,000 Equity shares of
¥ 10 each at a premium of ¥ 2 per share. The amount was payable
as follows :

On Application ¥ 5 (including premium)
On Allotment T 4
On First and Final Call ¥ 3

Applications for 15,00,000 shares were received. Applications for
3,00,000 shares were rejected and pro-rata allotment was made to the
remaining applicants. Excess application money was utilized towards
sums due on allotment. Giri who had applied for 24,000 shares failed
to pay the allotment and call money. His shares were forfeited. Out
of the forfeited shares 10,000 shares were reissued for ¥ 8 per share
fully paid up. Pass necessary journal entries in the books of Moti
Ltd.

feror fa. A 2 10@%10000%3@%%%%@%%
fow | Tfer o o AR W A A

T W T 1

A W T 2

9 A W T 3

0 a9 S FEa W — 9

ot ofel % fou ofrE ww g3 | T S 100 of9i & smeed fEAr wm @, A
e TR & PAH T FE qEn SEh RN F e % qi WIg wed L fo
T W R 150 SfE @ e fRm Ty @1, WOW FEA H YT TR
foram | oW AT % v IES ofeN @t off S & A T | doavEe el qun
A aren wih € | deT R 50 ot F swees R mar a1, 3 gwd qu af=m
e A & e T R | 3Es SRl @ s e & fern T | e faT
mq&ﬁmﬁaﬁ?9nﬁmm{ﬁmgﬂ'ﬁﬁﬁqﬁmﬁmmﬂﬁﬁwﬁﬁ
T # avEs AsHmEr sfafyEl S |

A9aT

_— ]
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A fd. 3 T 10 ¥@% % 10,00,000 F9aT 3% & foima & fow smaeq smfEw

ferw 1 it @ frfea T 2 wfa sfwr & siftmm W & @1 | T w1 qTaH

2 a1

aEed W T 5 (ifiam gfea)

MaeAd W T 4

g9 agr f<q I | T 3
15,00,000 379 & fAT 37" W< g€ | 3,00,000 3¢ & fow syacH & frw
AMYR W 3eied fvar w1 fafs
FAeA YT & GHENE 3eed W g TR ¥ & faw w1 il fSER 24,000
I F fog oA fFar @1, 4 seed U W I U H PEE A& R |
39S I H S W fAEr T | S fFT T sfER @ 10,000 3w T 8 Wi
3w pi-wem T frifra & fen w1 At fa. & o A sTEvEd AsHmE

F fear w9 9y

wfafsar FifSg |

SaTH H

/1 ¥R

16. X, Y and Z were partners in a firm sharing profits and losses in the
ratio of 5 : 3 : 2. On 31.3.2010 their Balance Sheet was as follows :

67/1

Amount Amount

Liabilities 4 Assets 4
Capital Accounts : Building 50,000
X : 175,000 Patents 15,000
Y: 62500 ‘| Machinery 75,000
Z: 37,500 [1,75,000 | Stock 37,500
Sundry Creditors 42,500 [ Debtors 20,000
Cash at Bank 20,000
2,17,500 2,17,500

Z died on 31.7.2010. It was agreed that :

(a)  Goodwill be valued at 2% year’s purchase of the average profits of

the last four years, which were as follows :

Years Profits

4
2006 — 2007 32,500
2007 - 2008 30,000
2008 — 2009 40,000
2009 - 2010 37,500

P.T.O.
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(b)  Machinery be valued at ¥ 70,000; Patents at ¥ 20,000 and
Building at ¥ 62,500.

(c) For the purpose of calculating Z’s share of profits in the year of
his death the profits in 2010 — 2011 should be taken to have been
accrued on the same scale as in 2009 — 2010.

(d A sum of ¥ 17,500 was paid immediately to the executors of Z
and the balance was paid in four half yearly instalments together
with interest at 12% p.a. starting from 31.1.2011.

Give necessary journal entries to record the above transactions and Z’s
executors’ account till the payment of instalment due on 31.1.2011.

OR

Murari and Vohra were partners in a firm with capitals of ¥ 1,20,000
and ¥ 1,60,000 respectively. On 1.4.2010 they admitted Yadav as a
partner for one-fourth share in profits on his payment of T 2,00,000
as his capital and T 90,000 for his one-fourth share of goodwill.

On that date the creditors of Murari and Vohra were ¥ 60,000 and
Bank overdraft was ¥ 15,000. Their assets.apart from cash included
Stock ¥ 10,000; Debtors ¥ 40,000; Plant and Machinery T 80,000;
Land and Building ¥ 2,00,000. It was agreed that stock should be
depreciated by ¥ 2,000; Plant and Machinery by 20%, T 5,000 should
be written off as bad debts and Land and Building should be
appreciated by 25%. - |

Prepare Revaluation Account, Capital Accounts of Murari, Vohra and
Yadav and the Balance Sheet of the new firm.

T, 9 99 e TF B F WEeR ¥ S AN-E 50 302 % ogum § ared A1
31.3.2010 F 37! feafe foamor foe @R & a1

afir LUNS

2gamd Z et Z
St @ wad 50,000
@ 75,000 WS (R=H) 15,000
g ;62,500 ENIET 75,000
e 37,500 | 1,75,000 | € 37,500
fafay AeR 42,500 | &R : 20,000
d% & Iz 20,000
2,17,500 2,17,500

10




31.7.2010 ! S & @I 8 T | I THgar fha T o
) wﬁmwﬁﬁwaﬁ%ﬁwm%zéa@f%m%wﬁm
T S e YER | A '

i T
2006 ~ 2007 32,500
2007 - 2008 30,000
2008 — 2009 40,000
2009 - 2010 37,500

(@) WY & geied T 70,000; THE T 20,000 @9 WaA T 62,500 fFAT
sl

M FgFaddawd se F oofw & WA F AT 2010 — 2011 T F @™
2009 — 2010 7§ ¥ S M9 & M & AT M |

() ST F oo A T 17,500 F OGO P T 99 W HOPEE
31.1.2011 ¥ Y€ I IR FTaR o afve forval § 12% 9fa af &t X @
=s dfga forar sm@m |

3T ARAl H Al FA & A TEvEs JsHmEn sfafeat ST a9 31.1.2011
T 3 fvd ¥ P % St & fERs @ @ R | :

e
T T AT TH BH H WRRR 4 a9 I ot wr ¥ 1,20,000 @
Z1,60,000 @ | 1.4.2010 F 3BT W F 1/4 97 & € & F T 2,00,000
a @ § o 1/4 9 & AT T 90,000 F PEM FA W I H TH T
PER ST |

39 fafg & qud qun deT & A9eR T 60,000 F F A % Ifufawd T 15,000
a7 | Vg A Bewl I8 gEfagl 7 & : i T 10,000; TR T 40,000;
a3 qgr A T 80,000; 4 @ waq T 2,00,000. F§ v foar m f6 wis
W T 2,000 H ESH AT S GIF q91 WA W 20% H HeIGE AT
ST T 5,000 S99 WO ufafEa fFw s ok 4ff @ waq @ g 25% g
Sl

AR @, O, ag0 a9 gk & o @« a9 6 @ fRefa faee
FIRY |
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23. From the following Balance Sheets of Vikas Ltd. as on 31.3.2009 and
31.3.2010, prepare a Cash Flow Statement :

31.3.2009 31.3.2010 31.3.2009 | 31.3.2010
Liabilities 3 4 Assets 54 4
Share Capital 90,000 | 1,30,000 | Fixed Assets 93,400 | 1,66,000
General Reserve 30,000 55,000 | Stock 22,000 26,000
Profit and Loss Account 20,000 30,000 | Debtors 36,000 39,000
Trade Creditors 17,400 22,000 | Cash 4,000 5,000
Preliminary |
Expenses 2,000 1,000
1,57,400 | 2,37,000 1,57,400 | 2,37,000

Additional Information :

(1)

(ii)

Depreciation charged on fixed assets for the year 2009 — 2010 was
¥ 20,000.

Income Tax Z 5,000 has been paid in advance during the year. 6

31.3.2009 94 31.3.2010 @ faaw fa. % frefafad fafa fFaol ¥ Iss ¥R

faator sqEy .

31.3.2009 | 31.3.2010 31.3.2009 | 31.3.2010
gt z T |l 3 4
v g 90,000 | 1,30,000 | ¥&r efal 93,400 | 1,66,000
LIS IEE] 30,000 | 55,000 | ©® 22,000 | 26,000
g @I 20,000 | 30,000 | 3TER 36,000 | 39,000
RS AER 17,400 | 22,000 | 3% 4,000 5,000
'- IR 2,000 1,000

1,57,400 | 2,37,000 1,57,400 | 2,37,000
SfaRes el : |

G) @ 2009-2010 ¥ fau @Rl wofd W qede™ 3 20,000 ST T

qr |
(ii)

67/1
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18.

19.

20.

21.

22.

23.

67/1

PART C
(Computerised Accounting)
"

(rfuhfer TEiHH)

What are Sequential codes ?

s et #@E 2

What is Normalisation ,?

FRET = ?

What is the function of ‘Table’ in DBMS ?
A § wwel & o w8 2

What is a join line in DBMS ?
ddt g § s W R FEd § 2

Why in DBMS do we seek to split formation into different tables rather

than a single table ?

ﬁ.ﬁ.@.@.ﬁmmﬁﬁﬁ@mﬁmﬁﬁamﬁﬁ@maﬁm

g2

What are the advantages of Computerised Accounting System ?

S S SUTeh & o § 2

Calculate the formula on Excel for the following :
Dearness Allowance |

45% on basic pay upto ¥ 15,000, minimum T 6,000
35% on basic pay above ¥ 15,000, minimum % 7,500

House Rent Allowance

Upto basic pay of ¥ 10,000 : T 4,000
Z 10,001 — ¥ 15,000 basic pay T 8,000
Above T 15,000 basic pay : ¥ 10,000

City Compensatory Allowance :
10% of basic pay subject to a minimum of ? 1,500

16

3x2=6
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frfafad & fau t e | wHa & T S

% 15,000 @ & [ 909 W 45%, Aa9 T 6,000

T 15,000 ¥ 31fys & qo a9 W 35%, <Fa9 T 7,500
wea fertran w= '

¥ 10,000 9% & Y& da9 & faw : T 4,000
T 10,001 — ¥ 15,000 7% & T a9 & faC  : T 8,000
¥ 15,000 ¥ 3fys & g Ia9 & fog : ¥ 10,000
TR giagfd s

A a1 H 10%, FFaH T 1,500

16
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